
INSTRUCTION MANUAL

NM-BC25BLACK

Projektoriteline

Projektorbeslag

Supporto per proiettore

Support pour videoprojecteur

Soporte para proyectoresProjectorsteun

Projektor Halterung

Projector mount



25 kg Tool

NM-BC25BLACK

Parts

Step 1

Step 2b

Step 2a

Step 3a

Drill13.5 cm Pencill

B (x4)

C (x1)

D (x4)

M-I (x1)

M3x25 (x4)
M-A

M4x25 (x4)
M-B

M-G (x4)

M-F (x8)

M-H (x8)

M-E (x4)M5x25 (x4)
M-C

M6x25 (x4)
M-D

W-B (x4) W-C (x4)W-A (x4)

A (x1)

E (x1)

E

X

W-A

W-C

W-B

W-C

W-A

D

B

M-G

M-F

M-I

Step 4b

Step 3b

Step 5

Step 4

M-A/M-B/M-C/M-D

M-E/M-F

M-A/M-B/M-C/M-D

M-E
M-F

M-A/M-B/M-C/M -D

M-E/M-F

M-H

E


